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1. P is the point at (2ap,ap?) on x° = 4ay, ~ prove that the
normal at P has equation x + py = ap(2+p2). This normal
meets the axis of the parabola in G and the latus rectum
(produced 1if necessary) in H. N is the foot of the per-
pendicular from P on the axis. If S is the focus, show
that *SH : *SP = #NP : *NG. '
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2. "™Q is a chord of the parabola x2 = lay, whose vertex is:
0. 'PQ meets the axis of the parabola in B, and B, N
are the abscissae from P, Q. Prove that *OM.*ON = *QBZ.
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3. (1)

(i1)

The tangent at a point P on x% = 4ay (with focus 8§)

meets the latus rectum at A and the directrix at B..

Prove that *SA = *SB.

This tangent also meets the Ay’ axis,4ﬁ E, and the

normal at P meets the =x axis in F. Prove that

*PE : *PF = 2 : p.
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rPM—‘, ’bl\? are perpendiculars from P, Q (on x2 = 4ay) to.
the directrix, If S is the focus, " and .
{E: Ee ™N', *NE = *EM}, prove that "ES' is perpen-
dicular to ri’Q-' . ’ . i
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5. P is any point on x2 = 4ay; the vertex is O -and thei.
focus is 8. 'P0'meets the directrix in .Q, prove that
MS'1s parallel to the tangent at P. = ° '
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6. (i) The tangent at P on x2 = 4a meets the tangent at

the vertex 0 in Z. If "2M' is drawn perpendicular
to 'SP! meeting it at M, where S is the focus,
prove that *0Z = *ZM. !

(i1) The normal at P (2,1) on %2 =" 4y, meets the y axis'
in ¢ and M is the midpoint of YPG'. A 1line through
M parallel to the x axis meets the y axis in N
and the parabola in Q. Prove that *QN = *PG,
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